Coding — dinosauro

Ho fatto disegnare lo schema sul quaderno (27 quadr. X 29 quadr.). Ecco il risultato.




Legenda dinosauro
Bianco=B nero=N blu=BL azzurro=A viola=V

I- 7B,10A,10B

2- 5B,2N,10A,3N,7B

3- 4B,1N,7A,4N,4A,1N,6B

4- 3B,1IN,3A,3B,3A,IN,2B,4N,1A,1N,5B

5- 2B,IN,4A,1B,I1N,1B,2A,1V,IN,5B,3N,5B
6- 1B,I1N,5A,3B,1A,2V,IN,13B

7- 1N,12A,1N,13B

8 IN,11A,1V,IN,13B

9- 1N,6A,IN,3A,2V,IN,13B

10- 1B,2N,3A,1N,6A,IN,13B

11- 3B,7N,2A,1V,1IN,13B

12- 9B, IN,1A,2V,2N,12B

13- 9B,IN,4A,1N,12B

14- 7B,3N,4A,1V,IN, 11 B

15- 7B, IN,1BL, I N,4A,2V,IN,10B

16- 7B,3N,4A,2V,1A,IN,9B

17- 9B,IN,1A,1IN,2A, 1 V,2A,2N,8B

18- 6B,4N,1A,1N,4A,2V,1A,1N,7B

19- 6B,IN,4A,1N,4A,2V,2A,1N,6B

20- 6B,6N,4A,1V,2A,2V,IN,5B

21- 10B,IN,7A,2V,2A,1N,4B

22- 10B,IN,5A,1N,5A,1V,IN,3B

23- 11B,IN,3A,1N,2A,IN,2A,2V,1A,IN,2B
24- 12B,IN,2A,1N,2A,IN,1A,3N,2A,IN,1B
25- 13B,3N,2A,2N,3B,IN,2A,1N

26- 12B,2N,1BL, IN,2A, IN,2B,2N,IB,IN,1 A, 1IN
27- 11 B, IN,2BL,2N,2A, IN,2B,IN,1A,2N, 1A, IN
28- 11B,3N,4A,1N,3B,IN,3A,1N

29- 13B,6 N,4B,3N,1B



